Calcul littéral -

Fonctions

Réduction d'expressions
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A = 3a + 9a 'B= 7a - 4a :C = 2a+ 3a FACTORISATION
A=3xa + 9xa EB:7><a - 4xa EC:Zxa+3xa A=5xa+ 2xa
Az(3+9)x... éB:( ...... ) X C( ...... o )X A=(5+2)xa
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[ Tentrainement 2 Réduis au maximum les expressions suivantes en regroupant les fermes par familles
M =2a+5a+3 .N 5a + 6 + 2a §O=4a-7+3c( :P 5+7a+4a
M=7a+3 N=Ba+....+6 Lo P-
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Q=3+5a+2a R=3+5a+7+2a 'S=2a+5+3a+3 | f""iéa'l'é?é""ida """
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'V = 5a - 20+2+3a+4a 2

U= 4a+20+3+20+5

X 6a+ba -4+4 +2a-8-2a+88

=5+3a+4b+3a-2a-5+2a-6a+2




